Sr Questions Answers Choice

24
30
21
22

1 S S Cd (S oo )8 g pas

slael a8
alae) JaSa

Alac) Ta
dlae) @lha

2 e S 2l (8 085 (oo 1449B¢16:25) Al 522

3 $sa7 S »Oed S an =2n+3

4 255 Rlb i 10 by aen Joa 2 Sb (S e S

5 PEEINT R S

6 & 5 LS (SO S e LS(n 264 6668) Al (5330

Gildae S o 2cll jagaia
P
e Scpa

22
2V+2
2v-2
2V

7 " s i S el B ST e S (S A s S

8 = S by oy e 0 S8l (1) S

an
an
an-1
n+3

9 Sscade o S 8 i Sl oS

a8
a9
al0
all

10 = S Al o2ena + 9d

34
30
31
32

11 €S o e i ¢u) o] g

Ll Gomsd
Aol

Cey Al

12 = S AL 350 g0 3 535 LS (e aludis (S

OOW» DOWr DOWP DOUF DO0WP» UOUP U0mP D0®mr U0D» U0W» 0D0mF 00>
%



